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Expanding

( Brackets)

Expand the brackets

2(x+38) 6y (9 -y)
2x + 16 54y_6y2

Expand the brackets and simplify

12 (4x +8)-6x 7 (@-11)+2(3+a)
48x + 96 - 6X 7a - 77 + 6 + 2a
42% + 96 9a - 71




Expand  4(y + 2)

Gigiih| —

Expand 2(h—4)

m!\:

3. Expand 52w + 3)

®

G|

Expand 32y —1)

e

5. Expand 52x+7)

2

6. Expand 3(10 — 3y)

@

7 Expand 6(3 — 2x)

qy +8&..........
3 (1)
2h-8. .
(1)
ow+\5
(1)
eu-3 ...
3 (1)
10%+35
(1)
30-9y
(1)
18-2%
(1)
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: Expand 23w — Sy)

e
(R
g
|
‘o

(1)
9. Expand 42m - 3p)
8m—lﬁp .........
(1)
10.  Multiply out  x(x + 3)
)
%.+32%. ...
(1)
11.  Expand ala—9)
a‘_qa. .............
(1)
12. Expand y(3y +9)
g 2
Y9y ..
(1)
13. Expand Sy2y + 1)
g
2
S E 3L -
14.  Expand 3x(3x - 2) @)
qxz‘c"' .........
(2)
15. Expand 8x(2x = 5)
f 6% - YOX
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Multiply out —3(y + 2)

Expand 6x(y — 2)

Expand O9e(2f — 3)

Expand -2(y—4)

Expand and simplify 3x+5)+2x+1)
39 & 15 4 MNt+2

5 4 1%

Expand and simplify 4x-1)+32x+5)

-4 + 61 +16
Expand y(y%?+3)
gy
Expand 2w(3Bw? = 5)
Gw - 10W

"33‘6 ...........
(1)
67(&-’276
(2)
18ef -2
2
Y48
(1)
L. 22k S
(2)
XN+
(2)
3
YAy
38 (1)

........................



24. Expand

5. Expand
26. Expand
=
27. Expand
=

28. Expand and simplify

-2

?

29. Simplify

30. Expand and simplify

y2(8 = 2y)

2x%(7x + 3)

4x%(2x - 5)

a(Ba + 2ac)

T(x+4)+ 503 - 2x)
T2 4+ 28 +15-10%

19w — (5 — 4w)
1w -6 +4W

2(7y — 3x) — 8(x — 4y)
l‘-llj —6%-8%4—313

31. Expand w>(w* + 3)

-------------------------

q
W3w ..
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(a) Expand 7(2x +7)

(b) Factorise 3y +12

(a) Expand Sa(a—6)

(b) Solve 4(b+2)=24

b+2=6
b=

(a) Factorise fully  12m + 8m’

(b) Solve 3(n-—-5)=27
n-$=9

4%+ 4Q
(1)
3(u+4)
I (1)
Y
50 - 300.
)
r-_9
)
gm (3 +2m)
)
=W
Q)
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(a) Expand 8(3s—2)

4% -16
(1)
(b) Factorise 4t+ 20
uck+5)
(1)
(a) Factorise fully  54°h + 15ab’
5ab (a +3b)
(b) Solve 6(c—8)=42 (2)
6C-4% =42
cc = 90
= 30
¢ X/ - W
(2)
(a) Factorise  18x+24
6 (3% +4)
(b) Expand 3(2y-—4) (M
- 12
63 (1)

The Maths Society

/




(a) Expand p(p—3)

(b) Factorise 16g + 8

(a) Factorise fully  6x* —4xy

(b) Solve 2(w—4)=13

aw-8 =\3
9.0 = 2\
w= & - ‘OK
p X

(a) Factorise x*—O9x

(b) Expand 6(5y+1)

2

p-2p =

8 (aq+1)
(1)

2%6(3%-24)

~©
5 =,,.._l..9.,,l_- 5

2%(x-9)
(1)
3+ (1)
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11

12

(a) Expand 3(5x-38)

(b) Factorise 18y +15

(a) Expand 7(2h-3)

(b) Expand and Simplify 4(g+5)+3(g—2)

44+ a0 +33-5

(a) Factorise fully 7xy+21x

(b) Solve 6(p+3)=42
p+3 =3
p=4

5%-24

ey

306y +6) (1)

\

14h - 21
(1)
¢ + 14
J )
Iy +3)
)
p= q
)
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14

15

(a) Expand a(a + b)

(b) Factorise 15y—6

(a) Expand 9x(3y—38)

(b) Expand and Simplify  7(¢—4) + 5(t —2)

74 -28 +6£-10

(a) Factorise fully  30x’ + 12x

(b) Solve 5(f—2)=22
S'F-\O =22
5§ =32

f -6
5

d+ab
(1)
3 53 ) o
23204 - 2%
“ @)
126- 38
2)
2
@)
- 63
5 )
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17

18

(a) Expand x(8x + 1)

(b) Factorise 18+ 63y

(a) Expand 2x*(4x —9)

(b) Expand and Simplify 6(y +3)—5(y—4)

Gy + 18 -8Y + 20

(a) Factorise fully  30a* + 40ab

(b) Solve 3(g+9)=21

3+‘]=Q
3:-2

__8_2? +%
(1)
902 + 74)
<
2
80- 18%
)
u+ 38
)
100, (3a +ub)
)
g= =%
Q)
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20

21

(a) Expand n(5n + 1)

2
An+n
)
(b) Factorise 18m + mn
(1
(a) Expand 3x(7x* —y)
3
(b) Expand and Simplify  3(6y + 5) —2(4y— 1) (2)
184 +15 -8y + 2
o4 13
~ )
(a) Factorise fully  18a’hc + 30abc’
Gabe (30 +5¢)
6abc (30.+5¢)
(b) Expand and Simplify 42y —7) - 3(5y —3) (2)
8y~ 28 - 59 xQ
-y -19
J )

The Maths Society

/




4 )

1 Expand and Simplify (x +2)(x +4)(x + 1)
2
(% +4yx+2%+8) (x+1)
(%‘14-6% +8) (x+1)

2
oreai+ 8% + % +6%+E

2
&%&..}2&1..\&2& +8&

2 Expand and Simplify (x —3)(x + 5)(x —2)

( % 4+ K% -8% =15 (x-2)

(% +a%-18) (% K

2
%%-\-293—\6')&— 90 -4n+ 30

9(,3— 1% +30

3
2-19%+30 ...

3 Expand and Simplify (x +2)(x+ I)(x +5)
C oly e Ax +2I(AA5D
( 2+ 3%+ 220%+5)
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4 Expand and Simplify (x +4)(x + 5)(x — 4)

(2-16 €% 45)

9
aC-16% + 5% - 80

6 Expand and Simplify (x+5)(x—3)(2x—1)
(ocn-a'x. +Sx -16)02%-1)
('xa} ax-15)C2%-1)

)
2.'x.3+ qg—aox‘”-zx“s
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3 2
X%1+5%-16x-80......
5 Expand and Simplify (x + 3)(x — 1)’
2
(943 (o -2%+1)
2
ool % + 3%~ 6X+3
3 2
X.+%=65%+3......

3
et 3N = B2A+IS

J
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7 Expand and Simplify (2x + 1)(x + 2)(x + 3)
(2‘)(,2-\-‘-\“. +9(,+9.)('X.4'3)

(2C +52+2 (X +3)

2
992 + 5%+ 2% $6X+1TLHE

223 + 170 + AN 46

8 Expand and Simplify (2x—-3)(x-2)(3x—1)
( g'x,"-w‘)(,— 32 +6) (3%-1)

Lz'x,"- 3% +6)(3%-1)

2
6%3— 21“»24'\81 - 2 -\'%"6

2
6x>-23% +29% -6
9 Expand and Simplify (x—2)(3x +2)(x +5)
(3o ran-6x-4) (X+5)
2
( 3%¢-4%-4)(%+5)
2 -20

393"— qxa—qx +15% - 20%

3

.3.&..1:.!12@?:3.@!..&..—...&9 ..........
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10 Expand and Simplify (3x+ 1)(x +2)(x — 4)

(ax’-rcx +242)(%-4)
(3;:,’... 39¢ +27(%-4)

2
3% + 2% +2% - 12% - 28X -&

39(,3_ G'xn- 26% -8

11 Show that (2x+3)(5x+2)(x—5)=10x*—31x>—89x —30

for all values of x.

(.ox,a.fq'x. +1HN +6 V(- 6)

= (|ox. + \q%-t‘)f""”

o2 oo - co% -96% =30

= wx? +\q
105331 % -892% - 30
cshown)

12 Showthat (2x—1)(Bx+2)*=18x3+ 15x*—4x—4
for all values of x.
2
(9% + 12 +4)2%1)

2
2 -
_ aad+ 2y +8% - 9% - 13% -4

= l87(-3+ 5 ‘)t:l -4 -4 ¢ ghown)
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13 Showthat (3x— 1)(dx+3)(x—9)=12x> — 103x> — 48x + 27

for all values of x.

(ID.’X?-\-Q‘X.-‘-%‘JL-—B ) (x-9)
= (1293+S'x-3)cfx.-q)
2
= 12x3+sx.a-3%-losx-qsac+29

= l:mg—loaoca- Y +273
¢(dhown)

14 Showthat (5x—4)(3x + 1)(2x —7)=30x*— 119x> + 41x + 28

for all values of x.

( lea-l-sx _1ax-4)(ex-3)

( lsxq- T -4 )02 -3)

2
507{?- \Wx?-&x - 1065% +49% +28

2
309(,3 - N19% +41%¢+28

cehown)

(Total for question 14 is 3 marks)
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